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Expand the following:
1. (x+3)(x—3)
2. -2 +D
3, (S?U+1)(v— 1)
4. y-2)(y-2)
5. 2x—3)(x—1)

Factorise the following, and find the solutions, using a method of your choice:
1. x>—2x—-3=0

2. x24+6x+8=0
3. 2x2+5x+3=0
4. 4x*+2x—2=0
2,7y 1
5. 3y +2+2—O
6. a°2—3a—4=0
7. x2—4x—-3=0
2
8. Z+24+1=0
6 12
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Answers
Expand:
1. x2—-9
2. y2—y—2
3. g
3 3
4, y2—4y+4

5. 2x>—=5x+3

Factorise and find solutions:

1.

2 2 2
Solutions: x = -1, x = 3
x+1D)x-3)=0

_ —6kV4 _ —6k2
2. x = — == 341
Solutions: x = -2, x = —4
x+2)(x+4)=0
_ —-5+V1 _ —5%1
3. x= =,
Solutions: x = —%, x=-1

2x+3)(x+1)=0

_ 2+V4+12 _ 24V16 _ 244
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—21v36 —2+6 —-1+3
4. x = 3 = = n

[ee]

Solutions: x ==, x = —1

1
2
2x—-1)2x+2)=0
‘%i\/% | -Iis _7is

5. y= = =

6 6 12

Solutions: y = —%, y=-1

(3y+%)(y+1)=0

6. = VB _ 35
2 2
Solutions: a =4, a = -1
(a—4)(a+1)=0
7 x= 41\/126+12 _ 41;/% _ 4-4_?/7 — 24 \/7

Solutions: x =2 +V7,x =2 —+/7
(x=2=-V7)(x—=2+V7)=0
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H 3
Solutions: x = —4, x = -

2x+3)(x+4)=0

11x

— +1=0, but rather 2x% +

2
You may have spotted that does not expand to give % +

11x + 12 = 0. These are equivalent since they are equal to 0, so we have simply
multiplied the first by 12 on both sides.

To factorise the original, we need to divide by 12:

1
E(2x+ 3)(x+4)=0

1 1
g(2x+3)§(x+4) =0

LR

Support: Study Development offers workshops, short courses, 1 to 1 and small group tutorials.

e Join a tutorial or workshop on the Study Development tutorial and workshop webpage or
search ‘YSJ study development tutorials.’

Access our Study Success resources on the Study Success webpage or search ‘YSJ study

success.’
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